Sec Descrip CPMS	ject: Fairfield Road Resurfacing tion: 17-00104-09-RS tion: Mill and Fill Resurfacing S Pin: B-01238 Date: 6/20/2017	Summary of Bids Receiv	ved			
Bidder Peter Baker & Son Company Payne & Dolan, Inc. Lorig Construction Company	Address 1349 Rockland Road 28435 W. Route 173 250 East Touhy Avenue	City, State, Zip Lake Bluff, IL 60044 Antioch, IL 60002 Des Plaines, IL 60018	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$1,144,975.34 \$1,258,890.75 \$1,344,545.50	% Over/Under Eng. Estimate -25.25% -17.81% -12.22%	\$ Over/Under Eng. Estimate -\$386,698.3 -\$272,782.9 -\$187,128.2
Engineer's Estimate				\$1,531,673.70		
Design	IDOT(2)	Contract Bidder	F	ี่ขาว then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	Administrative Assis	stant	
Construction	Project File	Request By Mail	N	Agr Capital Program	nming	

業	LakeCo Division of	Dunty Transportation										
	Section:				Retur	n Bid Tabulatio	n					
Item No.	Pay Code	Description	Quantity	Unit	Eng Estir		Lorig Constructi		Payne & Do	-	Peter Baker & S	
1	20800150	TRENCH BACKFILL	7.0	CU YD	Unit Price \$50.00	Extnd. Price \$350.00	Unit Price \$58.00	Extnd. Price \$406.00	Unit Price \$180.00	Extnd. Price \$1,260.00	Unit Price \$16.50	Extnd. Price \$115.50
2		INLET AND PIPE PROTECTION	4.0	EACH	\$175.00	\$700.00	\$250.00	\$400.00	\$180.00	\$1,200.00	\$120.00	\$115.50
3		AGGREGATE BASE COURSE, TYPE B	1,192.0	TON	\$30.00	\$35,760.00	\$20.00	\$23,840.00	\$16.50	\$19,668.00	\$2.50	\$2,980.00
4		BITUMINOUS MATERIALS (TACK COAT)			\$0.50	\$13,086.00	\$0.01	\$261.72	\$0.01	\$261.72	\$0.01	\$261.72
5	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	12.0	TON	\$350.00	\$4,200.00	\$150.00	\$1,800.00	\$65.00	\$780.00	\$50.00	\$600.00
6	40600535	LEVELING BINDER (HAND METHOD), N70	20.0	TON	\$125.00	\$2,500.00	\$91.00	\$1,820.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00
7	40600990	TEMPORARY RAMP	415.0	SQ YD	\$5.00	\$2 <i>,</i> 075.00	\$15.00	\$6,225.00	\$12.00	\$4,980.00	\$16.60	\$6,889.00
8	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	4,858.0	TON	\$70.00	\$340,060.00	\$59.00	\$286,622.00	\$55.00	\$267,190.00	\$60.00	\$291,480.00
9	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	3,753.0	TON	\$75.00	\$281,475.00	\$61.00	\$228,933.00	\$65.00	\$243,945.00	\$61.15	\$229,495.95
10	42001300	PROTECTIVE COAT	445.0	SQ YD	\$2.50	\$1,112.50	\$1.00	\$445.00	\$3.50	\$1,557.50	\$2.00	\$890.00
11	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,029.0	SQ FT	\$5.00	\$5,145.00	\$7.00	\$7,203.00	\$11.00	\$11,319.00	\$7.00	\$7,203.00
12	42400800	DETECTABLE WARNINGS	135.0	SQ FT	\$50.00	\$6,750.00	\$34.50	\$4,657.50	\$30.00	\$4,050.00	\$30.00	\$4,050.00
13	44000164	HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	38,774.0	SQ YD	\$4.00	\$155,096.00	\$3.65	\$141,525.10	\$2.45	\$94,996.30	\$2.85	\$110,505.90
14	44000200	DRIVEWAY PAVEMENT REMOVAL	3,575.0	SQ YD	\$10.00	\$35,750.00	\$5.25	\$18,768.75	\$10.00	\$35,750.00	\$6.20	\$22,165.00
15	44000300	CURB REMOVAL	242.0	FOOT	\$10.00	\$2,420.00	\$8.00	\$1,936.00	\$16.50	\$3,993.00	\$8.00	\$1,936.00

貒	LakeCounty Division of Transportation										
	Project:Fairfield Road ResurfacingSection:17-00104-09-RSDescription:Mill and Fill ResurfacingCPMS Pin:B-01238Let Date:6/20/2017			Retu	rn Bid Tabulatio	'n					
Item No.	Pay Code Description	Quantity	Unit	Eng Esti		Lorig Constructi		Payne & Do	-	Peter Baker & S	
				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
16	44000500 COMBINATION CURB AND GUTTER REMOVA	L 1,427.0	FOOT	\$10.00	\$14,270.00	\$6.25	\$8,918.75	\$16.50	\$23,545.50	\$5.50	\$7,848.50
17	44000600 SIDEWALK REMOVAL	1,029.0	SQ FT	\$2.00	\$2,058.00	\$1.50	\$1,543.50	\$2.65	\$2,726.85	\$2.00	\$2,058.00
18	44201749 CLASS D PATCHES, TYPE I, 9 INCH	176.0	SQ YD	\$70.00	\$12,320.00	\$60.00	\$10,560.00	\$20.00	\$3,520.00	\$30.00	\$5,280.00
19	44201753 CLASS D PATCHES, TYPE II, 9 INCH	264.0	SQ YD	\$68.00	\$17,952.00	\$55.00	\$14,520.00	\$20.00	\$5,280.00	\$30.00	\$7,920.00
20	44201757 CLASS D PATCHES, TYPE III, 9 INCH	793.0	SQ YD	\$67.00	\$53,131.00	\$55.00	\$43,615.00	\$20.00	\$15,860.00	\$30.00	\$23,790.00
21	44201759 CLASS D PATCHES, TYPE IV, 9 INCH	529.0	SQ YD	\$65.00	\$34,385.00	\$53.00	\$28,037.00	\$20.00	\$10,580.00	\$30.00	\$15,870.00
22	48101500 AGGREGATE SHOULDERS, TYPE B 6"	344.0	SQ YD	\$8.00	\$2,752.00	\$12.50	\$4,300.00	\$34.00	\$11,696.00	\$16.60	\$5,710.40
23	48102100 AGGREGATE WEDGE SHOULDER, TYPE B	105.0	TON	\$35.00	\$3,675.00	\$6.50	\$682.50	\$55.00	\$5,775.00	\$54.25	\$5,696.25
24	48203013 HOT-MIX ASPHALT SHOULDERS, 4"	588.0	SQ YD	\$35.00	\$20,580.00	\$22.00	\$12,936.00	\$28.50	\$16,758.00	\$28.70	\$16,875.60
25	48203021 HOT-MIX ASPHALT SHOULDERS, 6"	211.0	SQ YD	\$45.00	\$9 <i>,</i> 495.00	\$27.00	\$5,697.00	\$30.00	\$6,330.00	\$16.35	\$3,449.85
26	50105220 PIPE CULVERT REMOVAL	45.0	FOOT	\$10.00	\$450.00	\$22.00	\$990.00	\$63.00	\$2,835.00	\$75.00	\$3,375.00
27	542C0217 PIPE CULVERTS, CLASS C, TYPE 1 12"	45.0	FOOT	\$30.00	\$1,350.00	\$52.00	\$2,340.00	\$75.00	\$3,375.00	\$85.00	\$3,825.00
28	54215547 METAL END SECTIONS 12"	4.0	EACH	\$100.00	\$400.00	\$575.00	\$2,300.00	\$370.00	\$1,480.00	\$75.00	\$300.00
29	56109210 WATER VALVES TO BE ADJUSTED	3.0	EACH	\$150.00	\$450.00	\$350.00	\$1,050.00	\$320.00	\$960.00	\$430.00	\$1,290.00
30	60263900 INLETS TO BE RECONSTRUCTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$750.00	\$750.00	\$1,600.00	\$1,600.00	\$970.00	\$970.00	\$1,800.00	\$1,800.00
31	60600095 CLASS SI CONCRETE (OUTLET)	3.0	CU YD	\$150.00	\$450.00	\$550.00	\$1,650.00	\$630.00	\$1,890.00	\$1,000.00	\$3,000.00
32	60600605 CONCRETE CURB, TYPE B	121.0	FOOT	\$20.00	\$2 <i>,</i> 420.00	\$28.00	\$3,388.00	\$38.00	\$4,598.00	\$32.00	\$3,872.00

	LakeCo Division of	Dunty Transportation										
	Section:				Retu	rn Bid Tabulatio	n					
ltem No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	mate Extnd. Price	Lorig Constructi Unit Price	on Company Extnd. Price	Payne & D Unit Price	olan, Inc. Extnd. Price	Peter Baker & Unit Price	Son Company Extnd. Price
33	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,427.0	FOOT	\$22.00	\$31,394.00	\$36.00	\$51,372.00	\$38.00	\$54,226.00	\$25.00	\$35,675.00
34	67100100	MOBILIZATION	1.0	L SUM	\$85,000.00	\$85,000.00	\$75,000.00	\$75,000.00	\$118,000.00	\$118,000.00	\$11,985.00	\$11,985.00
35	70106800	CHANGEABLE MESSAGE SIGN	10.0	CAL M	\$1,000.00	\$10,000.00	\$250.00	\$2,500.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00
36	70300100	SHORT-TERM PAVEMENT MARKING	1,617.0	FOOT	\$1.00	\$1,617.00	\$0.75	\$1,212.75	\$0.45	\$727.65	\$1.00	\$1,617.00
37	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,315.0	SQ FT	\$10.00	\$13,150.00	\$1.00	\$1,315.00	\$0.01	\$13.15	\$0.01	\$13.15
38	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	20,779.0	FOOT	\$0.40	\$8,311.60	\$0.20	\$4,155.80	\$0.01	\$207.79	\$0.01	\$207.79
39	70200220	TEMPORARY PAVEMENT MARKING - LINE 5"	17,258.0	FOOT	\$0.50	\$8,629.00	\$0.23	\$3,969.34	\$0.01	\$172.58	\$0.01	\$172.58
40	/0300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,886.0	FOOT	\$0.60	\$1,731.60	\$0.26	\$750.36	\$0.01	\$28.86	\$0.01	\$28.86
41	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,383.0	FOOT	\$1.00	\$1,383.00	\$0.65	\$898.95	\$0.01	\$13.83	\$0.01	\$13.83
42		TEMPORARY PAVEMENT MARKING - LINE 24"	308.0	FOOT	\$2.00	\$616.00	\$1.00	\$308.00	\$0.01	\$3.08	\$0.01	\$3.08
43		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	156.0	FOOT	\$0.50	\$78.00	\$0.65	\$101.40	\$0.65	\$101.40	\$0.65	\$101.40

	LakeCo	Dunty Transportation										
	Section:				Retu	rn Bid Tabulatio	n					
ltem No.	Pay Code	Description	Quantity	Unit	Eng Esti		Lorig Constructi		Payne & Do	-	Peter Baker & S	
		THERMOPLASTIC PAVEMENT MARKING			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
44	78000300	- LINE 5"	2,910.0	FOOT	\$0.75	\$2,182.50	\$0.80	\$2,328.00	\$0.80	\$2,328.00	\$0.80	\$2,328.00
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	481.0	FOOT	\$1.00	\$481.00	\$0.97	\$466.57	\$0.97	\$466.57	\$0.97	\$466.57
46	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	320.0	FOOT	\$2.00	\$640.00	\$1.95	\$624.00	\$1.95	\$624.00	\$1.95	\$624.00
47	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	158.0	FOOT	\$5.00	\$790.00	\$4.00	\$632.00	\$4.00	\$632.00	\$4.00	\$632.00
48	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	2.0	EACH	\$15.00	\$30.00	\$100.00	\$200.00	\$1.00	\$2.00	\$20.00	\$40.00
49	87900200	DRILL EXISTING HANDHOLE	1.0	EACH	\$250.00	\$250.00	\$235.00	\$235.00	\$227.00	\$227.00	\$227.00	\$227.00
50	88600100	DETECTOR LOOP, TYPE I	42.0	FOOT	\$20.00	\$840.00	\$15.30	\$642.60	\$15.30	\$642.60	\$15.30	\$642.60
51	88600600	DETECTOR LOOP REPLACEMENT	1,183.0	FOOT	\$20.00	\$23,660.00	\$15.30	\$18,099.90	\$15.30	\$18,099.90	\$15.30	\$18,099.90
52	LC200052	EXCAVATING EXISTING SHOULDER	28.0	UNIT	\$500.00	\$14,000.00	\$575.00	\$16,100.00	\$50.00	\$1,400.00	\$670.00	\$18,760.00
53	LC400202	SEAL COAT	9,398.0	SQ YD	\$3.00	\$28,194.00	\$1.10	\$10,337.80	\$1.62	\$15,224.76	\$2.00	\$18,796.00
54	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	1,315.0	SQ FT	\$10.00	\$13,150.00	\$5.40	\$7,101.00	\$5.40	\$7,101.00	\$5.40	\$7,101.00
55	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	20,623.0	FOOT	\$1.00	\$20,623.00	\$0.90	\$18,560.70	\$0.90	\$18,560.70	\$0.90	\$18,560.70
56	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	14,348.0	FOOT	\$1.25	\$17,935.00	\$1.12	\$16,069.76	\$1.12	\$16,069.76	\$1.12	\$16,069.76

	LakeCo Division of	Dunty Transportation										
	Section:				Retur	n Bid Tabulatio	n					
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	nate	Lorig Constructi	on Company	Payne & D	olan, Inc.	Peter Baker & S	on Company
	-		-		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
57	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	2,405.0	FOOT	\$1.50	\$3,607.50	\$1.35	\$3,246.75	\$1.35	\$3,246.75	\$1.35	\$3,246.75
58	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,063.0	FOOT	\$2.00	\$2,126.00	\$2.70	\$2,870.10	\$2.70	\$2,870.10	\$2.70	\$2,870.10
59	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	151.0	FOOT	\$5.00	\$755.00	\$5.40	\$815.40	\$5.40	\$815.40	\$5.40	\$815.40
60	LC800850	REMOVE TRAFFIC COUNTER	1.0	EACH	\$1,500.00	\$1,500.00	\$1,680.00	\$1,680.00	\$1,680.00	\$1,680.00	\$1,680.00	\$1,680.00
61	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	3,488.0	SQ YD	\$4.00	\$13,952.00	\$4.00	\$13,952.00	\$3.00	\$10,464.00	\$6.55	\$22,846.40
62	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	22.0	EACH	\$300.00	\$6,600.00	\$1,000.00	\$22,000.00	\$823.00	\$18,106.00	\$820.15	\$18,043.30
63	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$2,500.00	\$12,500.00	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
64	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$70,000.00	\$70,000.00	\$60,000.00	\$60,000.00	\$7,800.00	\$7,800.00	\$14,210.00	\$14,210.00
65	XX000856	MAILBOX REMOVAL AND RELOCATION	2.0	EACH	\$100.00	\$200.00	\$225.00	\$450.00	\$500.00	\$1,000.00	\$100.00	\$200.00
66	XX003435	PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT	58.0	SQ YD	\$75.00	\$4,350.00	\$73.00	\$4,234.00	\$94.25	\$5,466.50	\$75.00	\$4,350.00
67	XX006343	SEEDING (COMPLETE)	763.0	SQ YD	\$10.00	\$7,630.00	\$8.50	\$6,485.50	\$8.50	\$6 <i>,</i> 485.50	\$8.50	\$6,485.50
68	XX008130	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	22.0	EACH	\$150.00	\$3,300.00	\$315.00	\$6,930.00	\$154.00	\$3,388.00	\$495.00	\$10,890.00

業	LakeCo Division of	ounty Transportation										
					Retur	n Bid Tabulatio	n					
	Project:	Fairfield Road Resurfacing										
	Section:	17-00104-09-RS										
	-	Mill and Fill Resurfacing										
	CPMS Pin:											
	Let Date:	6/20/2017										
					1							
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Lorig Constructi	on Company	Payne & Do	olan, Inc.	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
69	XX206400	MAILBOX POST	26.0	EACH	\$50.00	\$1,300.00	\$215.00	\$5,590.00	\$500.00	\$13,000.00	\$100.00	\$2,600.00
70	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	26.0	EACH	\$300.00	\$7,800.00	\$650.00	\$16,900.00	\$351.00	\$9,126.00	\$345.00	\$8,970.00
71	Z0033700	LONGITUDINAL JOINT SEALANT	38,000.0	FOOT	\$1.00	\$38,000.00	\$2.18	\$82,840.00	\$2.18	\$82,840.00	\$2.18	\$82,840.00
72	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$13,000.00	\$13,000.00	\$5,750.00	\$5,750.00
		Bid Total				\$1,531,673.70		\$1,344,545.50		\$1,258,890.75		\$1,144,975.34

	LakeC(Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	ails				
					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20800150	TRENCH BACKFILL	7.0	CU YD	\$50.00	\$350.00	\$16.50	\$180.00	\$84.83
2	28000500	INLET AND PIPE PROTECTION	4.0	EACH	\$175.00	\$700.00	\$120.00	\$250.00	\$190.00
3	35101400	AGGREGATE BASE COURSE, TYPE B	1,192.0	TON	\$30.00	\$35,760.00	\$2.50	\$20.00	\$13.00
4	40600290	BITUMINOUS MATERIALS (TACK COAT)	26,172.0	POUND	\$0.50	\$13,086.00	\$0.01	\$0.01	\$0.01
5	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	12.0	TON	\$350.00	\$4,200.00	\$50.00	\$150.00	\$88.33
6	40600535	LEVELING BINDER (HAND METHOD), N70	20.0	TON	\$125.00	\$2,500.00	\$50.00	\$91.00	\$63.67
7	40600990	TEMPORARY RAMP	415.0	SQ YD	\$5.00	\$2,075.00	\$12.00	\$16.60	\$14.53
8	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	4,858.0	TON	\$70.00	\$340,060.00	\$55.00	\$60.00	\$58.00
9	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	3,753.0	TON	\$75.00	\$281,475.00	\$61.00	\$65.00	\$62.38
10	42001300	PROTECTIVE COAT	445.0	SQ YD	\$2.50	\$1,112.50	\$1.00	\$3.50	\$2.17
11	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5	1,029.0	SQ FT	\$5.00	\$5,145.00	\$7.00	\$11.00	\$8.33
12	42400800	DETECTABLE WARNINGS	135.0	SQ FT	\$50.00	\$6,750.00	\$30.00	\$34.50	\$31.50

	LakeC(Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	ails				
Itom No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min Bid Brico	Max. Bid Price	Ava Bid Prico
Item No.	Fay Code		Quantity	Unit	Juit Price	Extrus Price	with. Did Price	IVIAX. DIU PIICE	Avg. Diu Price
13	44000164	HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	38,774.0	SQ YD	\$4.00	\$155,096.00	\$2.45	\$3.65	\$2.98
14	44000200	DRIVEWAY PAVEMENT REMOVAL	3,575.0	SQ YD	\$10.00	\$35,750.00	\$5.25	\$10.00	\$7.15
15	44000300	CURB REMOVAL	242.0	FOOT	\$10.00	\$2,420.00	\$8.00	\$16.50	\$10.83
16	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,427.0	FOOT	\$10.00	\$14,270.00	\$5.50	\$16.50	\$9.42
17	44000600	SIDEWALK REMOVAL	1,029.0	SQ FT	\$2.00	\$2,058.00	\$1.50	\$2.65	\$2.05
18	44201749	CLASS D PATCHES, TYPE I, 9 INCH	176.0	SQ YD	\$70.00	\$12,320.00	\$20.00	\$60.00	\$36.67
19	44201753	CLASS D PATCHES, TYPE II, 9 INCH	264.0	SQ YD	\$68.00	\$17,952.00	\$20.00	\$55.00	\$35.00
20	44201757	CLASS D PATCHES, TYPE III, 9 INCH	793.0	SQ YD	\$67.00	\$53,131.00	\$20.00	\$55.00	\$35.00
21	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	529.0	SQ YD	\$65.00	\$34,385.00	\$20.00	\$53.00	\$34.33
22	48101500	AGGREGATE SHOULDERS, TYPE B 6"	344.0	SQ YD	\$8.00	\$2,752.00	\$12.50	\$34.00	\$21.03
23	48102100	AGGREGATE WEDGE SHOULDER, TYPE B	105.0	TON	\$35.00	\$3,675.00	\$6.50	\$55.00	\$38.58
24	48203013	HOT-MIX ASPHALT SHOULDERS, 4"	588.0	SQ YD	\$35.00	\$20,580.00	\$22.00	\$28.70	\$26.40
25	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	211.0	SQ YD	\$45.00	\$9,495.00	\$16.35	\$30.00	\$24.45
26	50105220	PIPE CULVERT REMOVAL	45.0	FOOT	\$10.00	\$450.00	\$22.00	\$75.00	\$53.33

業	LakeC(Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	ails				
					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
27	542C0217	PIPE CULVERTS, CLASS C, TYPE 1 12"	45.0	FOOT	\$30.00	\$1,350.00	\$52.00	\$85.00	\$70.67
28	54215547	METAL END SECTIONS 12"	4.0	EACH	\$100.00	\$400.00	\$75.00	\$575.00	\$340.00
29	56109210	WATER VALVES TO BE ADJUSTED	3.0	EACH	\$150.00	\$450.00	\$320.00	\$430.00	\$366.67
30	60263900	INLETS TO BE RECONSTRUCTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$750.00	\$750.00	\$970.00	\$1,800.00	\$1,456.67
31	60600095	CLASS SI CONCRETE (OUTLET)	3.0	CU YD	\$150.00	\$450.00	\$550.00	\$1,000.00	\$726.67
32	60600605	CONCRETE CURB, TYPE B	121.0	FOOT	\$20.00	\$2,420.00	\$28.00	\$38.00	\$32.67
33	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,427.0	FOOT	\$22.00	\$31,394.00	\$25.00	\$38.00	\$33.00
34	67100100	MOBILIZATION	1.0	L SUM	\$85,000.00	\$85,000.00	\$11,985.00	\$118,000.00	\$68,328.33
35	70106800	CHANGEABLE MESSAGE SIGN	10.0	CAL M	\$1,000.00	\$10,000.00	\$250.00	\$1,000.00	\$750.00
36	70300100	SHORT-TERM PAVEMENT MARKING	1,617.0	FOOT	\$1.00	\$1,617.00	\$0.45	\$1.00	\$0.73
37	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,315.0	SQ FT	\$10.00	\$13,150.00	\$0.01	\$1.00	\$0.34

業	LakeCo Division of	Dunty Transportation							
	Section:		Return	Bid Deta	ails				
					Ĵ	timate			
Item No.	Pay Code	Description TEMPORARY PAVEMENT MARKING	Quantity	Unit	Unit Price	Extnd. Price		Max. Bid Price	_
38	70300220	- LINE 4"	20,779.0	FOOT	\$0.40	\$8,311.60	\$0.01	\$0.20	\$0.07
39	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	17,258.0	FOOT	\$0.50	\$8,629.00	\$0.01	\$0.23	\$0.08
40	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,886.0	FOOT	\$0.60	\$1,731.60	\$0.01	\$0.26	\$0.09
41	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,383.0	FOOT	\$1.00	\$1,383.00	\$0.01	\$0.65	\$0.22
42	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	308.0	FOOT	\$2.00	\$616.00	\$0.01	\$1.00	\$0.34
43	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	156.0	FOOT	\$0.50	\$78.00	\$0.65	\$0.65	\$0.65
44	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	2,910.0	FOOT	\$0.75	\$2,182.50	\$0.80	\$0.80	\$0.80
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	481.0	FOOT	\$1.00	\$481.00	\$0.97	\$0.97	\$0.97
46	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	320.0	FOOT	\$2.00	\$640.00	\$1.95	\$1.95	\$1.95

業	LakeCo Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	ails				
	Dev Ce de	Description	0	11-14	Eng Es		Min. Did Duise		
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
47	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	158.0	FOOT	\$5.00	\$790.00	\$4.00	\$4.00	\$4.00
48	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	2.0	EACH	\$15.00	\$30.00	\$1.00	\$100.00	\$40.33
49	87900200	DRILL EXISTING HANDHOLE	1.0	EACH	\$250.00	\$250.00	\$227.00	\$235.00	\$229.67
50	88600100	DETECTOR LOOP, TYPE I	42.0	FOOT	\$20.00	\$840.00	\$15.30	\$15.30	\$15.30
51	88600600	DETECTOR LOOP REPLACEMENT	1,183.0	FOOT	\$20.00	\$23,660.00	\$15.30	\$15.30	\$15.30
52	LC200052	EXCAVATING EXISTING SHOULDER	28.0	UNIT	\$500.00	\$14,000.00	\$50.00	\$670.00	\$431.67
53	LC400202	SEAL COAT	9,398.0	SQ YD	\$3.00	\$28,194.00	\$1.10	\$2.00	\$1.57
54	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	1,315.0	SQ FT	\$10.00	\$13,150.00	\$5.40	\$5.40	\$5.40
55	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	20,623.0	FOOT	\$1.00	\$20,623.00	\$0.90	\$0.90	\$0.90
56	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	14,348.0	FOOT	\$1.25	\$17,935.00	\$1.12	\$1.12	\$1.12
57	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	2,405.0	FOOT	\$1.50	\$3,607.50	\$1.35	\$1.35	\$1.35

貒	LakeCo Division of	Dunty Transportation									
	Project: Fairfield Road Resurfacing Section: 17-00104-09-RS Description: Mill and Fill Resurfacing CPMS Pin: B-01238 Let Date: 6/20/2017										
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
58	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,063.0	FOOT	\$2.00	\$2,126.00	\$2.70		\$2.70		
59	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	151.0	FOOT	\$5.00	\$755.00	\$5.40	\$5.40	\$5.40		
60	LC800850	REMOVE TRAFFIC COUNTER	1.0	EACH	\$1,500.00	\$1,500.00	\$1,680.00	\$1,680.00	\$1,680.00		
61	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	3,488.0	SQ YD	\$4.00	\$13,952.00	\$3.00	\$6.55	\$4.52		
62	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	22.0	EACH	\$300.00	\$6,600.00	\$820.15	\$1,000.00	\$881.05		
63	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$2,500.00	\$12,500.00	\$1,000.00	\$2,000.00	\$1,333.33		
64	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$70,000.00	\$70,000.00	\$7,800.00	\$60,000.00	\$27,336.67		
65	XX000856	MAILBOX REMOVAL AND RELOCATION	2.0	EACH	\$100.00	\$200.00	\$100.00	\$500.00	\$275.00		
66	XX003435	PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT	58.0	SQ YD	\$75.00	\$4,350.00	\$73.00	\$94.25	\$80.75		
67	XX006343	SEEDING (COMPLETE)	763.0	SQ YD	\$10.00	\$7,630.00	\$8.50	\$8.50	\$8.50		

業	LakeC(Division of	Dunty Transportation								
Return Bid Details Project: Fairfield Road Resurfacing Section: 17-00104-09-RS Description: Mill and Fill Resurfacing CPMS Pin: B-01238 Let Date: 6/20/2017										
					Eng Es	timate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price	
68	XX008130	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	22.0	EACH	\$150.00	\$3,300.00	\$154.00	\$495.00	\$321.33	
69	XX206400	MAILBOX POST	26.0	EACH	\$50.00	\$1,300.00	\$100.00	\$500.00	\$271.67	
70	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	26.0	EACH	\$300.00	\$7,800.00	\$345.00	\$650.00	\$448.67	
71	Z0033700	LONGITUDINAL JOINT SEALANT	38,000.0	FOOT	\$1.00	\$38,000.00	\$2.18	\$2.18	\$2.18	
72	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$10,000.00	\$10,000.00	\$4,000.00	\$13,000.00	\$7,583.33	
	Bid Total					\$1,531,673.70				